[W1]HHH 201647 H
X2 Tsil FABBAN)
# s BRA 54,342
R 4,066 oo 37K BFRERE
FRYTA 26,375
i) 2,273 100
A HT 19,073 90
=) 26,416 80
iq:'iﬁ 5,098 70 [ U
AT 13,209 20 SRRSO —
¥ﬁ5§%qﬂ5&%#’§ﬁﬁ 4’531 50 [ UUUUUURRUUURI
S4BT = R T 3,271 40
58 P 2 B A AT 2.833 B0
BB = 4,591 20 J SRRSO S
EE*#}_ 2’754 10 [ UUUUUURRUUURI
FE FOET 2,727 0 '
EFART 3,064 734
EiRAET 7,066
X R T 3,848
YEEIAE TS 4,579
7 1L BT 3.242 N FIREH &
HIWATH 2,496 30
T AT 2,316
B s R AT 3,316 25 2.4
FHEWLEZ DY 2,825
Ll 3,846 2.0
] 37 P %7 i T R e Al 3,926 15
BERbET 4,509
Wiy kb 5,088 1.0 fro 0.8
R BT Hh R A 7,404 05
R ET 2,582 ‘
F & R A 2,637 0.0
FiREFERE MR 4,016 R~ EEAT TERRE~ 5 £
&L F R 4,672
ARERAR—YtE4 1,178
E+EE—TE 299
;FARAO 978 *']Fﬁ%'&%“ﬁ'
s 575
HERE 305
iR+ i 145
& 297 2%
EXEERRE 4,389
-+ E— DHE] 838
A+ E— DB 1,102
51) — > AT 5,851
A+RAZDETER 434 73%
3+ j= [ Al 433
A+ E = DT 580
EEE 755
ES TN 31| 219 FRERAT~F A ERRERAT~NEEER
A %7 ER Al 656
RNEF LY £ 142

-1/2-



[W1]%EHH

=2 Awi1 FIRAEHAN)
SESEES ) 171
ANHFEHE 240
5@ I 320
Et+EDE 234
i P = AR 615
FaETHET 349
¥R 300
h¥EF 1,070
RE=ESN 6,144

201647 A

-2/2-



[W1)H AR

X2 Tsil FABBAN)
EXEREITE 369
ik S EBFTHI 31
BT Al 464
FmKIEHE 28
AR F0ET 40
JERNET 12
{E/RHT 102
SCERHET 29
YEENFEPE RS 45
;A LU BT 8
HIWATH 16
A 30
ER ] R BT Al 39
HEHEBEWMHZ DV 34
AR 56
[E] 37 78 $7 i5 fm B Al 14
B RbHET 52
wey kg 41
b 37 5 BT Hh R Al 82
kAT 57
F+ & AT 18
R FHE M FER 115
B EET 56
BREAR—Yt4 0
-+ E— DHE 2
A+ E— DB 13
51) — > AT 32
EF+E-DEE 17
F + = [ #h Al 2
E+E DR 11
EEE 30
RN EF /N FEAR AT 1
A 27 ER A 5
NEmEY A 1
EeES 19
ANED S 4
F R 4
EFt+EDS 4
SR TP ST 4
g i) 6
Fohik 2
hiEF 0
REEESN 104

201647 A

100

) 3SR BEZEME

90

80

70 e
B0 o
50 e
40 o,
30
20 e
10 e

0

79.0

2.5

(A) FREH /&

2.0

2.0

15

1.0

0.5

0.5

0.0
KR A RITE~ LHEET

A+ EAFE ~ N E EA

23%

FRAEHEIS

7%

ERERTE~ EHRAT
F+JE R~ NI E R

-1/1-




